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Q1. Fatore ao méximo as expressoes a seguir:
1) 0,042% — 0,04zy + 0,01y?

2) 0,36k5 4+ 0,6k3m? + 0, 25m*

4

)
3) 0,0001a® + 0,006a*b® + 0, 36b°
R

5) x* + 222y + y?
6) a?b® + 2ab3c? + ¢t
7) (a+0b)?+2(a+b)c®+c
8) (z+y)? +2(z +y)(m+n) + (m+n)?
9) m? — 2mn + n?
10) z2 — 8z + 16
11) k? -2k +1

13) m? —6m+9
14) a?b? — 2abc + 2
15) 92* — 1222 + 4

16) 2522 — 30xy + 9y?

9a* — 24a3b3 + 1658
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12) a® — 16a + 64
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) —2? + 14z — 49
)

19) —z8 4 324

a3
20) —4aS + 42 — %

21) 2m? — 28m + 98
22) —27a* + 36a%c” — 12

75z 1203 y> 48y*
23) - -t

24) 13-; -84

25 k2 18k + 9
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0,09a2 — 3a + 25

0,25m% — 3m3 + 9

0,01a® — 0,008a%b* + 0,00165%

16 — (—fc—y)Jr(élc—ﬂc—y)2
(m +2n)% — 2(m + 2n)(m —
(22
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n) + (m —n)*
422+ 1)2 =2+ )3 (y+1)+y> +2y+1

224+ (m +n)x +mn

x? + 3max + 2m?

922 + 15ax + 4a?

22+ 52 +6

22— Tw + 12

x? + 22 + 35
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41) x? + 8z + 12
) 2% — 51 +6
) 22+ 10z +9
) 2% +x—12
) 2% =22 — 15
) %+ 3z — 28
) 2%+ 11z + 24
) 2%+ 32 — 18
)t — 2922 + 100
) a* —7a® + 10
) 2m? —2m — 40
) 3b% —30b+ 63
) 20c® +20c® — 120
) 9z* + 622y — 3y?
) m? + 5mk + 4k?
)

—22 —bx+14
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